‘ TUULC TUNERNALTIN Zuulnim

A-7
= 3,50x2,50
h= 0,00

AxB:

o
| . g _
150%% VS-2 AxB= 120x0,60 i AxB= 120x0,60 ¥ 2300 1504V ¥
- h= 1,50 h= 1,50 o
— — v
i: E 'A" "‘A‘ .‘A‘-"A‘" “A .‘A-..‘.‘A\-HA ‘.‘A:.l“. - A .-A.\:-A. NS J A A A A =
8 KORTER1 it {11 ELL L LR \ ¥ KORTER 2
4-{oaline NS R ﬁgg VN Al' K 4-toaline ‘8
143,7 m2 = g N : 9 2-2 - -
g e S Garderoos 8 pE—PIEE e, il I]gl Panipak
~ J 1-1 g o erogR B I Vel 19 Panipaik 18 59 m :
g Esik i° 4,8 m o~ \L 2 ~ 5,0 m? e §§§
5,0 m? ] N \ﬂ 48 a AII o
IR ‘ : S VS-1
AT epp o g
+ ST of A = z
WYL a L_Al °
A.. ——— - 1 LL\< /< M 080210 ‘._q‘._ L) = b
Ve Bl f— 1500 1850 " 21200 2000 41000 [} 1/00 i — 2-3 g Esik
- L] —oi— Garderoob = 2
° [ o 5 ol 4 8= 3,7 m? \ P
1] | 2 g 16 8l I= 7 m N
1-3 2 g we 2| T TR S D N
Elutuba-kook 31,9 e T "‘,'/“‘ / N
3 — S LY )
go‘ 7N\ wom ‘ LAl = — S L —
e KD — \{ou an ZWCAD- 202 1T rial IPA N 1550
44| Please cc g/(yx,zwsi— CONHoFm
: Adolgg ol 5[5 |2 @ % |2 }
| informatian’js {4 oS- 2
oo S )|k L=z T i =~
S O° : 2T A . 108m 9)
“JloO ‘ = d ORe
] | ‘ - A’OJOXZAH. — .A. /@ § \\2J5 \/\/\\/
. N § S N
i ] G-H | @ we g Kook-Elutuba
Vst MESRET 8 > e | ; @:{L U‘_) 25 m? g 1750 4 33,6 m?
gfg | . /§ 1-7 | B / \ I /u_; — S B ~
bt g Pesuruum || | \ ] <H>
kS 1 _ 6.8 m? @} Lw-a R = Cre
! LN S 28 = Pesuruuzm 1
o 0 ‘ 8 S "Saunz g 58 m k
o h= 0,00 S0 b= | N 3,8 m° -
Q 2ZS e B
< T || (@) o —
~ e_c o | ®) / h S
< S| . (2]
A i A ’j_‘ <
D ‘ VS-Z I— & N N A A N N N A N N N N A A |{ a
o I I
LO B
150, 4 3 800 | i VS-2 = AxB= €,§0x2,50
™ [ ! - S \TUULETOKEKATIK 200mm " h= 0,00
4 o N]
i ‘ < =
Terrass o - <23
20,0 m? 8 m T CEa
‘ N ST < EIE




